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The Huawei H12-724 (HCIP-Security (Fast track) V1.0) Certification Exam is a challenging exam that requires a significant amount

of preparation and study. The exam consists of multiple-choice questions and simulations that are designed to test the candidate's

ability to apply their knowledge and skills in real-world scenarios. To be successful in this exam, candidates must have a solid

understanding of security concepts and best practices, as well as hands-on experience working with Huawei security technologies.

By passing this certification exam, candidates can demonstrate their expertise in the field of security and differentiate themselves in

a competitive job market.

The Huawei H12-724 exam is a 90-minute exam that consists of 60 multiple-choice questions. The exam is available in English and

Chinese languages and can be taken at any of the Huawei Authorized Prometric Testing Centers (PTCs) around the world. The exam
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is designed to test the candidate's knowledge and skills in various security technologies, including firewall technology, VPN

technology, intrusion prevention and detection, network security, and security management. The exam is also designed to test the

candidate's ability to apply their knowledge and skills to real-world scenarios and to troubleshoot security problems.

 

QUESTION 119

Agile Controller-Campus All components are supported Windows System and Linux system.

*  True

*  False

QUESTION 120

Which of the following technologies can achieve content security? (multiple choice)

*  Web security protection

*  Global environment awareness

*  Sandbox and big data analysis

*  Intrusion prevention

QUESTION 121

The user access security solution is one-kind&#8221;End to end&#8221;Security architecture. The user access security architecture

includes three key components:Terminal equipment, network access equipment and access server.

*  True

*  False

QUESTION 122

Regarding the way SACG devices connect to the network, which of the following descriptions are correct?

(multiple choice)

*  SACG The equipment requires Layer 3 intercommunication with the terminal.

*  SACG It is usually connected to the core switch equipment and uses policy routing to divert traffic.

*  SACG Support hanging on non-Huawei devices.

*  SACG Equipment requirements and Agile Controller-Campus Interoperability on the second floor.

QUESTION 123

A policy template is a collection of several policies. In order to audit the security status of different terminal hosts and the behavior

of end users, the administrator needs to customize.

The same policy template is used to protect and manage terminal hosts. Regarding the policy template, which of the following

option descriptions are correct? (multiple choice)

*  When configuring the policy template, you can inherit the parent template and modify the parent template policy

*  Only the strategy in the strategy template can be used, and the administrator cannot customize the strategy.

*  You can assign a policy template to a certain network segment.

*  If different policy templates are applied to departments and accounts, the policy template assigned to the highest priority will take

effect. The priority relationship of the number is: account>department

QUESTION 124
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In the penetration stage of an APT attack, which of the following attack behaviors will the attacker generally have?

*  Long-term latency and collection of key data.

*  Leak the acquired key data information to a third party of interest

155955cc-666171a2-20fac832-0c042c044

*  Through phishing emails, attachments with 0day vulnerabilities are carried, causing the user&#8217;s terminal to become a

springboard for attacks.

*  The attacker sends a C&C attack or other remote commands to the infected host to spread the attack horizontally on the intranet.

QUESTION 125

Which patches does Policy Center support to management?(Choose 3 answers)

*  Microsoft Windows operating system patches

*  Microsoft SQL Windows database patch

*  Microsoft Internet Explorer patches

*  android system patches

QUESTION 126

The traditional campus network is based on IP As the core network, if there are mobile office users, which of the following options

is not the problem that mobile office users face when deploying access authentication?

*  The user distribution range is large, and the access control requirements are high.

*  The deployment of the access control strategy is significant.

*  Access rights are difficult to control.

*  User experience technology

QUESTION 127

When configuring the URL filtering configuration file, www.bt.com is configured in the URL blacklist-item:

At the same time, set it in the custom URL category.

A URL is set as bt.com, and the action of customizing URL classification is a warning. Regarding the above configuration, which of

the following statements are correct? (More select)

*  Users can visit www.videobt.com website.

*  The user can visit the www.bt.com website, but the administrator will receive a warning message.

*  User cannot access all the sites ending with bt com.

*  When users visit www.bt. com, they will be blocked.

QUESTION 128

According to different reliability requirements, centralized networking can provide different reliability networking solutions.

Regarding these solutions, which of the following descriptions are correct? (Multiple choice)

*  Basic networking includes deploying one SM Server, one SC Server, one DB and a AE server.

*  AE In addition to the deployment of basic networking components, the reliability of the network also requires the deployment of

an additional backup SC server.

*  SC In addition to the deployment of basic networking components, the reliability of the network also requires the deployment of

an additional backup SM server.

*  DB In addition to the deployment of basic networking components, the reliability of the network also requires the deployment of
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an additional backup DB..

QUESTION 129

Agile Controller-Campus As RADIUS When the server performs authentication, how many ends need to be configured for

authentication on the admission control device?

*  1812

*  1813

*  8443

*  8080

QUESTION 130

Regarding the description of the ACL used in the linkage between SACG equipment and the TSM system, which of the following

statements is correct!?

*  default ACL The rule group number can be arbitrarily specified.

*  default ACL The rule group number can only be 3999.

*  due to SACG Need to use ACL3099-3999 To pick TSM The rules issued by the system, so in the configuration TSM Before

linkage, you need to ensure these ACL Not referenced by other functions.

*  The original group number is 3099-3999 of ACL Even if it is occupied, it can be successfully activated TSM Linkage.

QUESTION 131

If you combine security defense with big data technology, which of the following statements are correct?

(multiple choice)

*  In the learning process, you should start from collecting samples, analyze their characteristics and then perform machine learning.

*  Machine learning only counts a large number of samples, which is convenient for security administrators to view.

*  In the detection process, the characteristics of unknown samples need to be extracted and calculated to provide samples for

subsequent static comparisons.

*  Security source data can come from many places, including data streams, messages, threat events, logs, etc.

QUESTION 132

There are three roles in the XMPP protocol: server, gateway, and client. Corresponding to the free mobility solution: Agile

Controller-Campus as For the server, Huawei USG6000 series firewall acts as the gateway; the agile switch acts as the client.

*  True

*  False

QUESTION 133

Misuse detection is through the detection of similar intrusions in user behavior, or those that use system flaws to indirectly violate

system security rules To detect intrusions in the system. Which of the following is not a feature of misuse detection 2

*  Easy to implement

*  Accurate detection

*  Effective detection of impersonation detection of legitimate users

*  Easy to upgrade

QUESTION 134
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Which of the following elements does PDCA include? (Choose 3 answers)

*  Plan

*  Implementation

*  termination

*  Monitoring

QUESTION 135

In the Policy Center strategy configuration, how many violations rating of definition are there?

*  2

*  3

*  4

*  5

QUESTION 136

In order to protect the security of data transmission, more and more websites or companies choose to use SSL to encrypt

transmissions in the stream. About using Huawei NIP6000 The product performs threat detection on (SSL stream boy, which of the

following statements is correct?

*  NIP0OO does not support SSL Threat Detection.

*  The traffic after threat detection is sent directly to the server without encryption

*  NIP can directly crack and detect SSL encryption.

*  After the process of &#8220;decryption&#8221;, &#8220;threat detection&#8221;, and &#8220;encryption&#8221;

QUESTION 137

If the regular expression is &#8220;abc. de&#8221;, which of the following will not match the regular expression?

*  abcde

*  abcdde

*  abclde

*  abc+de

QUESTION 138

MAC Certification refers to 802.1x In the protocol authentication environment, the terminal does not respond to the connection

control device after accessing the network 802.1x When protocol authentication is requested, the access control does not

automatically obtain the terminal&#8217;s MAC The address is sent as a credential to access the network RADIUS The server

performs verification.

*  True

*  False

QUESTION 139

Regarding the role of each role in the Portal authentication framework, which of the following descriptions are correct? (multiple

choice)

*  The AAA server saves information such as usernames and passwords for authentication of access users.

*  The Web server saves information such as user names and passwords for authentication of access users.

*  The AAA server is used to push the Portal authentication page to the user.

*  The web server is used to push the Portal authentication page to the user.
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QUESTION 140

Which of the following options is not a cyber security threat caused by weak personal security awareness?

*  Disclosure of personal information

*  Threats to the internal network

*  Leaking corporate information

*  Increasing the cost of enterprise network operation and maintenance

QUESTION 141

Traditional access control policy passed ACL or VLAN Can not be achieved with IP Address decoupling, in IP The maintenance

workload is heavy when the address changes. And because the agile network introduces the concept of security group, it can achieve

the same IP Address decoupling.

*  True

*  False

	

	

The Huawei H12-724 certification exam is a comprehensive assessment of an individual's knowledge of network security. The exam

consists of multiple-choice questions and simulations that require candidates to demonstrate their ability to apply their knowledge to

real-world scenarios. Candidates must be able to identify and analyze security risks, and implement appropriate solutions to mitigate

those risks. The exam is challenging, but the rewards of passing it are significant. Certification holders are recognized as experts in

network security, and are highly sought after by employers.

 

New (2023) Huawei H12-724 Exam Dumps: https://www.dumpleader.com/H12-724_exam.html]
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